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：

𝑉𝑜𝑢𝑡 = 𝑆𝑉𝑐𝑐 ∗ 𝐼 + 𝑄𝑉𝑂𝑉𝑐𝑐

 



 

 



 

𝐸𝑠𝑒𝑛𝑠 =
（𝑆𝑓𝑖𝑡 − 𝑆𝑖𝑑𝑒𝑎𝑙）

𝑆𝑖𝑑𝑒𝑎𝑙

∗ 100%

𝐸𝑜𝑓𝑓𝑠𝑒𝑡 = 𝑄𝑉𝑂 − 𝑉𝑟𝑒𝑓



 

𝐸𝑁𝐿 =
𝑉𝑁𝐿

𝐹𝑆
∗ 100%

𝑉𝑁𝐿 = 𝑉𝑜𝑢𝑡𝑚𝑎𝑥 − (𝑆𝑓𝑖𝑡 ∗ 𝐼𝑚𝑎𝑥 + 𝑄𝑉𝑂) 𝑉𝑁𝐿

𝐹𝑆

𝑉𝑜𝑢𝑡𝑚𝑎𝑥  

𝐼𝑚𝑎𝑥  

𝐸𝑡𝑜𝑡𝑎𝑙(𝐼𝑝𝑟) =
𝑉𝑜𝑢𝑡𝑖𝑑𝑒𝑎𝑙

(𝐼𝑝𝑟) − 𝑉𝑜𝑢𝑡(𝐼𝑝𝑟)

𝐹𝑆

𝑆𝐸𝑅𝑅 = 100% × {(
𝑆(𝑉𝐶𝐶)

𝑆(5𝑉)
) − (

𝑉𝐶𝐶

5
)}

𝑉𝑜𝑢𝑡0𝑅 = 100% × {(
𝑉𝑜𝑢𝑡0(𝑉𝑐𝑐)

𝑉𝑜𝑢𝑡0(5𝑉)
) − (

𝑉𝑐𝑐

5
)}
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NSM2017-40B3RX-Q1SWR

D:  Industrial  Q1:  Automotive

B:Bipolar  U:Unipolar

Current Range (A)

Series Number

5: 5V Power Supply;   3:3.3V Power Supply

R:Ratiometeric   F:Fixed

Overcurrent Threshold :  0-75%; 2-100%; Blank-125%;  3-150%; 4-175%

 



 

 



 


